[N of simulated tracks vs dxy(PV) ]

N of associated tracks (simToReco) vs dxy(PV) ]

» » —_— T - -
<@ o
S =
£ g
2 E
4 [%)
Q j=
o 3
. & 10
o T T
‘O +-vo i i N O Lwe
< HiAaaaane et M HAAAARHAn 3
o O A R 14
T 1 Il 1 1 1 Il 1 Il \
| 1. N
I BLA A | ST 1| ERE
%5 - 25 05 =50-15-10 =5 0 5 10 15 20 25
TP dxy PV) (cm TP dxy(PV) (cm)
—=— DQM_V0001_R000000001__Global__mkFitNewOLD1000time_ RECO
| N of sim| —"— DQM_V0001_R000000001__Global__mkFitOLD-checkDet12_ RECO
1] 1J
< a
S =
5 10° 3
2 E
g 2
@ 10 o
= 3
x
10°
10%k LRE
LOfrdeebemste e et
‘© +-vo A Ty o e 1 i TRy i
= Hifittatrieaiig IRt K] At | AR At i
o RARHARARMAI g AAE A E A Y 14 O R i A RE A
R iR R T
1 I 1 I I I I I Il 1 I Il Il Il I I i [
1 I 1 I I I I I I 1 I I I I I I I [
1101 111
0.9 Ll \ I o o5 il \ B AR BEE
-1-0.8-0.604-02 0 02040608 1 -1-0.8-0.6-0.4-0.2 0 0.2 0.4 0.6 O.
TP dxy(PV) (cm) TP dxy(PV) (cm)
[N of simulated tracks vs dz(PV) ] [ Nof associated tracks (simToReco) vs dz(PV) ]
[} F [
k3 E Q
8 I =
B N S o
g1 £10
g F T 2
] [ 2
g 10 Foreerdreeeesees Foeees 8
=
E & 10
o v
T
14
10 20 30 O'—t\’:O -20 -10 0 10 20 30
TP dz(PV) (cm) TP dz(PV) (cm)
[N of simulated tracks vs dz(PV) ] [N of associated tracks (simToReco) vs dz(PV) ]
[} F 2
o o
L =
510° B
2 E
S, 2
< 10 S
= 3
i3
10°
10?
Qo v 8
© T
04 14
0.95

0.5 1
TP dz(PV) (cm)



	Contents
	Page 1


